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#include <iostream>
#include <string> // iostreamh‘d %732 5ABKA]
int main() {
std::string s {"Hello!"}; // XFHIUTZIL
std::cout << s <<"\n"; // cout DF|H
}

% ./a.out
Hello!
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#tinclude <iostream>
#include <string>

int main() {
std::string s {"Hello!"}; // XF5IUFZI

std::string s2 {s}; /] HEBDYIHAE
std::string s3; /1" (EEXFF]) TOHHE
s = "How are you?"; /] XF5TFZILDORA

s3 = s2; // KA, CSEETIEAH
std::cin >> s2; // cin HFAETES
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#include <iostream>
#include <string>

int main() {

std::string s2 {"Hello"};
std::string s3 {};

/] XFF) TSI
/! ZH
std::cout << s3 <<"\n";

s3 =s2+ "I";
s3 = s3 + s3;

s2 += ", thank you,"; // XZFFIDEM
s3 = " and You";
s2 += s3; // ZEDEM

// XFDEM
std::cout << s2 <<"\n";

s2 += '?';

% ./a.out
Hello! Hello!
Hello, thank you, and You?
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m  abcd < abxa

m  make < maker — true.

#tinclude <iostream>

int main() {

— true.
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std::string x, ans{"C++"};

std::cin >> x;

if (x == ans) std::cout << " correct!\n";
else if (x == "CPU") std::cout << " no...\n";
else std::cout << " incorrect...\n";
std::string a {"abc"};

if (a < "xyz") std:

rcout << a <<"

< Xyz is true\n";

% ./a.out
C++
correct!
abc < xyz is true
% ./a.out
CPU
no...
abc < xyz is true
% ./a.out
hello
incorrect...
abc < xyz is true
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u /;J\\%O)}Fl }Eﬁ ( j%ﬁl ’C@L\i% #include <iostream>
s BESIORTEE > TERNOLFICT 7 £ X e O L
std::string s {"abcXefg"};
R NNFEDOXZEHORTEILHEXR [0, n) char ch = s[3]; // GiAfEL LT
s[3] = 'd’; // EDEE LT
std::icout << ch << " " << s << " " <<"\n";
X NEEE BfE std::string t;

std::cin >> t;
if (Mt.empty()) { // ZEXFFITAERULN?
std::cout << t[@] <<" "<< t[t.size()-1] <" ";
std::cout << t.front() <<" "<< t.back() <<" ";
.size() s DRI ZIRT t.front() = 'X'; // EBfECLT
t.back() = 'z2'; // EIECLT
std::cout << t <<"\n";

.empty() s DRIDOTHNIL true ZIRT

w0n

w0n

s.front() s DEBEONFZIRT }
}
s.back() s DREDXFxiIRY
% ./a.out
X abcdefg
hello
n AU (BREHAONIE 1T BED) hoh o Xellz
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St r\ing :|9:F2 O) )< \/ / \\\ E’éﬁ %ﬁ #include <iostream>

int main() {
std::string s {"abcdefghijabc"};

s |IstringBlZ#HE 35 int i, j, k;
i = s.find("b"); // BID'5RIcbDRF
A NEE R B1E j = s.find("cde"); // HIH'DRIcDRF
k = s.rfind("abc"); // BA3DSRTaDHRF
_ . . stdiicout << 1 << ™ " << j << " " << k << "\n";
s.find(x) s DEELI D x ZHR L TORFEZIRT
if (s.find("X") == std::string::npos)
s.rfind(x) 3 @3'5}—-%7'3";3 . %};‘%L R AR std::cout << "X is not found\n";
std::cout << s.substr(2, 3) << "\n"; // cde
s D x HB»L y AOXF (BB std::cout << s.substr(9) << "\n"; // jabc
s.substr(x, y) - R
7)) wRT
s.replace(10, 3, "klmn"); // abcdefghijklmn
std::cout << s << "\n";
s.replace(x, Yy, s D x HEEN?L yAOXF%Z z ICE }
z) TR B
% ./a.out

find() , rfind() TR 2O HWEE, SFkA(E 1210

X is not found
std::string::npos DIRIFIND cde

jabc

abcdefghijklmn
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#tinclude <iostream>

int main() {

}

std::string s {"i = "};
int i {10};
s += std::to_string(i);

double r {2.5};

s += ", r =" + std::to_string(r);

std::cout << s <<"\n";

std::string ten{"10s"}, pi{"3.1415

i = std::stoi(ten);
r = std::stod(pi);

std::cout << i <<", "<< r <<"\n";

% ./a.out
i =10, r = 2.500000
10, 3.1415

rad"};
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#include <iostream>

D7—4xA #include <vector>
s char HXIRZAEFEIL string &
int main() {
LR std::vector<int> x; // #HtAR L TEE.
s <vector> "NV R I7FAINEA Y std::vector<double> y; // LR L TES.
JL— K
_ td::vector<int> b(3); B3R3E, VIHAE o
- BEORAESORICEETS o oran pen "
» N XFOERERIIEIDORFTZE- b[2] = 3;
TT7 ot std::cout << b[1] <" "

b[2 "\n"; 0 3
= ¥FHXME [o,n) e bl2] «ns //

=b; // 3BEROIE—
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#tinclude <iostream>
#tinclude <vector>
int main() {

std::vector<double> a; /] BREe
std::vector<double> b(5); // EBE&R#sS, {IHAfEe.0

std::vector<double> c(5, 1.4); // BEHS, #IHEL.4
std::vector c2(5, 1.4); /] cDBEBEH

std::vector<double> d {1.2, 2.5, 3.5}; // HEMOFIEREIEE
std::vector d2 {1.2, 2.5, 3.5}; // dDBEBEHZ



g% O) i_g_jju t %IJ B{ﬂ% #include <iostream>

#tinclude <vector>

= v.push _back( x ) :vector v DFKEIC int main() {
\ std::vector<double> x;
gi X ODlé‘jJD x.push_back(1.5);
m v.pop_back() :vector v DFREEZED o[PS DRI
x.push_back(3.3);
Sl std::cout << x.size() <<": " << x.front() <<" "<< x.back() <<"\n";
u V.Size() :vector v @g?ﬁ?& x.pop_back();
std::icout << x.size() <<": " << x.front() <<" "<< x.back() <<"\n";

m  v.clear() :vector v DE2EZDHIK

x.clear();
std::cout << x.size() <<"\n";

% ./a.out
: 1.5 3.3
1.5 2.8
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#tinclude <iostream>

#tinclude <vector>

int main() {

std::vector v1 { 1, 2, 3, 4, 5 };
std::vector v2 { @, 2, 3, 4, 8 };

if
if
if
if
if
if

(vl
(vl
(vl
(vl
(vl
(vl

v2)
v2)
v2)
v2)
v2)
v2)

std:
std:
std:
std:
std:
std:

:cout <<"equal\n";

:cout <<"not equal\n";

:cout <<"less than\n";

:cout <<"less than equal\n";
:cout <<"greater than\n";

:cout <<"greater than equal\n";

FHEOEZEI O ZTNENLE., ITERILCAESIE true, —D2THLERLNIL false.
BEZRILLEAIEE TR ITNIX G 5 A W0

% ./a.out

not equal

greater than
greater than equal
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#include <iostream>
#include <vector>
using std::vector, std::string, std::cout;
int main() {
vector<string> vs {"abc", "def", "ghi"};
// vector vs {"abc", "def", "ghi"}; // CHUUIRESEBEWIESIHNEREL.

// std::vector<char const*> fBIREINTLES=®

s = vs[@];
cout << s[1] <<" "< vs[@][1] <<"\n"; // b b
}
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// cop®@TOT S L # python® 704 5 L
#include <iostream>

#include <vector>

int main() {

std::vector<int> a; /] BER¥e a =]

std::vector<int> b(5); // ERIs, #HEe b = [0] * 5 # BXR¥S5, {IHi(Ee.0
std::vector<double> c(5, 1.4); // BEHs5, ¥HAEL.4 c = [1.4] * 5 # BERHS, VHAEL.4
std::vector<double> d {1.2, 2.5, 3.5}; // SPEIDOFEREIEE d = [1.2, 2.5, 3.5] # SFIENOFEREIEE
std::cout << d[0] <<" " << d[1] <<" "<< d[2] <<"\n"; print( d[e], d[1], d[2] )
d.push_back(1.5); d.append(1.5)

d.push_back(2.8); d.append(2.8)

std::cout << d.size() <<": " << d.front() <<" "<< d.back() <<"\n"; print( len(d), ": ", d[e], " ", d[-1] )
d.pop_back(); d.pop()

std::cout << d.size() <<": " << d.front() <<" "<< d.back() <<"\n"; print( len(d), ": ", d[e], " ", d[-1] )
d.clear(); d.clear()

std::cout << d.size() <<"\n"; print(len(d))

vector<string> vs {"abc", "def", "ghi"}; vs = ["abc", "def", "ghi"]

s = vs[@]; s = vs[@]

std::cout << s[1] <<" "<< vs[@][1] <<"\n"; print( s[1], vs[0][1] )



